ENCLISA VERSION
1) Choose the correct passive form of the following:
Do you eat an apple daily?
(A) Is the apple eaten by you daily?
(B) Does an apple caten daily by him?
(C)  Has an apple been eaten by you daily,
(D) Is an apple eaten by you daily?

2)  Choose the comrect indirect form of the following:
Deepa said, “Shall | open this gate?”
(A) Decpa said that if | shall open this gate.
(B) Deepa asked that she should open that gate.

(C) Deepa asked whether she shﬂw that gate.
(D) Deepa asked if she s gru gate.

3)  Which of the following
A misanthropist j

iven expression?

(A) rapist.
(B) is generous.
(C) works for the welfare of society.

(D) hates humankind.

4)  Which of the following conveys the correct sense of the given expression?
“She is too tired 1o walk further.”
(A) She 15 50 tired that she cannot walk further.
(B) She is 100 tired so as to walking.
(C) She is tired enough to walk more.
(D) She is tired to walk too.
5 “To clillp one’s wings' means
(A) To defame
(B) To dismiss
(C) To help someone
(D) To restrict one's power



6)  Choose anappropriate question for the given response:

Teacher:
—
Jenny: | was playing with my friends
{ﬁi_l wh“l Eame Vi Phl}f in the cqgniﬂﬂ?
(C) Where were you going in the evening?
(D) What were you doing in the evening”

7) Read the rﬂ“ﬂWi“g jumbled sentences and arrange them
senlence:

P : be able 1o be

Q : Shimla s a beautiful

R : place and the guests must
S :leave the state

T : here belore they

The correct sequence is;

(A) QRPTS
(B) PSOQOTR
(C) RPSQT
(D) QSPTR

g) ‘P aez w1 s At - = e -

(A) fA+Z+T+T+A+H
(B) F+T+I+T+T+A+H
(C) T+% +3+T + T+ +H
(D) T+E+T+T+TAT+H

Q) BT SR FT ATAATAT HATETL -

(A) TavH
(B) Taftw
() Tad
(D) i

10) w7 A - F e -
(A)  FHHTA +HT
(B)  HH+TA+TA
(©) A+ Ig+AT
(D) FEAYEET

into a meaninglul



11) i A
(A) W*ﬁ?’q:ﬁglﬁl
W) a8 AT
{li’! ﬁ-.;-;ﬂi’[ﬂ'"ﬁ
12) Wwﬁ#@mﬂﬁm‘iﬁﬂ-
h#ﬁﬁgﬂ*ﬁﬁsﬂ*#ﬁﬁﬂﬁml

v 41 A1 I AR FY 7 A H vk
® ﬁ“ﬁwﬁamwwaﬁm.

(D)
13) ﬂwﬁﬂﬁw |W“ﬁ'ﬁﬁﬁﬂﬁﬁhﬂm-mﬁﬂ?
(A) TTomdE
(B)  WETA®
() HIF
)

14) ﬁmqﬁmmﬁlﬁmﬁ'ﬂﬁ'?ﬂ?mﬁq‘ﬁﬁ?
(A) s (B) =Hrwrd (C) fAaures® (D) AROT4F

1S)  Which of the following is correct about the Kharamukh Bridge in Himachal
Pradesh?
(A) Itis located on Pathankot-Dalhousie road.
(B} Itis located on Chamba-Bharmour road.
(C) Itis over the Beas nver
(D) Itis located on the Kangra-Palampur road.

16)  The Postal Stamp of the world fame Tabo Monastry of Himachal Pradesh was
released in:

(A) 2001 (B) 2006 (C) 1997 (D) 1999

I17)  Which of the following is correct about the Old Age Pension Scheme in
Himachal Pradesh?

[A} It is- RS Tjﬂ mr n‘mnth aﬂcr m }rcm ﬂnd RE- Ism Per [‘[ﬂﬂlh ﬂﬂrr
70 years of age.

(B) It is Rs. 1000 per month after 60 years and Rs. 1500 per mont”
after 70 years of age.

if}; Itis Rs. 1500 per month after 60 years of age.
Itis Rs. 2000 per month after 60 years of age.
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18)

19)

20)

21)

22)

23)

24)

25)

26)

Which of the f : : ' )
~reas? ollowing 1y districts of Himachal Pradesh arc smallest in

(C)  Hamirpur ang Una (D) Bilaspur and Una

How much hectare areq of Himachal Pradesh is covered under Organic
Agriculture?

(A) 8992 (B) 9060 € 9192 (D) 8570

H‘-f“’ much investment subsidy is given to §cheduled Castes and Scheduled
Tribes led enterprises for their empowerment in Himachal Pradesh?

(A) 35% B) 30% (€ 25% D) 20 %

The expenditure on Education in 2021-22 was raised, as per the Himachal
Pradesh Economic Survey, 2021-22, What is its percentage?

(A) 4.72% (B) 3.80 % (C) 4.50% (D) 5.20 %

Which of the following fiscal deficit is projected in the GDP of Himachal
Pradesh Budget, 2022-237

(A) 3.75% (B) 5.40 % amg.'m% (D) 4.98 %

Which of the following ngccl about the performance of Indian Hockey
Team in Tokyo Olympics-2020 (actually held in 2021)7

(A) India beat Australia to win bronze medal, after 40 years.
(B) India beat Germany 0 win bronze medal after 41 years.
(C) India beat Germany to win bronze medal after 42 years.
(D) India beat South Korea to win bronze medal after 41 years.

Of the following, who founded the first Indian Pharmaceutical Company in

India ?
(A) N.Rayin 1885
(B) Khwaja Abdul Hamied in 1880

(C) Prafulla Chandra Ray in 1892,

(D) Dadabhai Naoroji in 1875,
The total number of women members in India’s 17" Parliament is :'

(A) 78 (B) 65 (C) 85 (D) 71
Which of the following is the correcl Retail Inflation of India in April, 2022,
according to the National Statistical Office?

(A) 692% (B) 719% (© 739% (D) 6
s



i mn L] i
gt COUMTY the Laseaux Cave is located 2

IV Inwhich of the follow
[“'_l Ruh'.\lll t{']

(AY  Nrazil Mexico (DY Frang,

) Which of the following develoPed coung

¥ became o defaulie
Internntionnl Monetary Fund in 20159 e i defaulter on debi g,
LULEA PR A TR TP i
(A Germany (B)  Greeee
(Y Russi (M Souh Korey

M) Which of the following COMNTY B R0y 00 of UN.O.Y

Willyg A
(A) Ksovo (B) Tanzing () Sudan (D) Chile

) Which of the following is €0t aboug e pye Prize-20222

(A New York Tines won Ve priges

(1) New York Times Won thiee 08,
(CY Washington Post did not gy ANy prige.
(DY Washington Post WOR Seven priy,

3N Semantic noise is concerned with the “lll.'ﬂ'!i'tilmli'.hilil.‘j' ol
LAY The medinm B The truns mission
(CY  The encoder (D) The message

3N o comumunication, redundancy has

(AT Highest predictability (B)  Lowest prediclability
ICY  Balanced prediciability (DY lmperfect predictability
33)  Discourse analysis considers all human communication as g
(A Content (BY  Stonting point
() Narrtive (D) Contemplation
34) When media texts are related emotions and feclings, it becomes
domain®?
(A} The cognitive (BY  The affective
(C)  The audience (Y The production

P ad
]
e

The first amendment 1o Article 19 (1) (4 of the Indian Constitution was mainly
aimed o include as a cause for reasonable restriction,

fAY  Public order (By  Censorship

(C)  Newspaper registration (D1 Licensing printing press



36)

37

38)

39)

40)

41)

42)

43)

£y ir'l- et 17l 1
The reference code often yyeqg for g :on recardings is known
VS
(g) Clocktime
Dy Clear pme

» 42™ Ame . _
The 427 Amendment w the Indian ¢ Lpstitution was in relation 10
(A)  Parcliamentary privileges .

(A)  Real ime
(C)  Vinual time

(B) Right!o privacy

(C) The change in the deserip; -
of India Sscription (p)  Sedition

Assertion (A): Media cannoy ¢ any agenda for national debates.

Reason (R): Media audience selocy contents Of their choice.
Codes:

(A)  Both (A) and (R) are yrye.

(B)  Both (A) and (R) are 1rue, by (R) is not the cormect explanation of (A).
(C)  (A)istrue, but (R) is false.
(0) (A)is false. but (R) is trye.

The term. development support communication was advocated by

(A) Paul Streeten (By [E.M. Rogers

(C) Erskine Childers (D) Y.V.Laxmana Rao
Stercotypes in mass media as a concept was introduced by

(A) Michael Foucoll (8) Walter Lippman
(C) William Raymonds (D) Robert Herman
For Roland Barthes, myth is a system of

(A) Conlrasts (B) Monmlity

(C) Precepts (D) Communication
The first foreign news agency to slart ils operations in India was
(AY Associaled press (B) DPA

(C) Rcuters (D) TASS
Telecasting format PAL has

(A) 30 fps 525 lines per frame  (B) 30 fps 625 lines per frame
(C) 25 fps 625 lines per frame (D) 25 fps 525 lines per frame



44)

45)

46)

47)

48)

49)

50)

ih LSt~ 0

{

Maich List =1 W

List -1 1. |‘-hilumph1.' of Ethies
a. Redundancy > Normative theory
b, Himlr}"dfs"“__m 3. Informatjon theory
. g:l'h“:::sn:h - Computer language
. Objec
Codes : . booC :

1
(A) 13 ;1
(B) 2 4 ;4
(€) 3 2 )
() 3 4

The site that played a major 016 UNg the terrorigy auack o Mumbai (26/1 1
in 2008 was

(A} Orkut

(C)  Amazon.com

Which of the following is a major cause for digital divide?

(B)  Facebook
(D) Twitter

(A) High speed networks (B)  Biometric data storage
(C)  Uliteracy (D) Computer games

External Services Division of All India Radio reaches 100 countries in
forcign languages.

(A) 15 (B) 11 (C) 10 (D) 16

The offset printing plate is made of

(AY  Aluminium (B) Copper

(C)  Rubber (D) Sieel

Scientific rescarch in mass communication demands the demonstration of
(A)  Continuity (B) Permanence

(C)  Transitivity (D3 Co-vanation

Action research is

(A)  Anapplied research

(B) A research (o solve immediate problems
C) A longitudinal research

(D) Simulative research



51

532)

33)

54)

35)

56)

57)

58)

39)

A null hypothesis is

(A)  When there is no difference beiween the variables
(B} The same as research hﬂlﬂlhe.q

(C) Subjective in nature

(D) When there is difference betweyy the variables

Which of the following is not related 1, ipformation security on the Internet?
(A) Data Eﬂl:l'}rpli'l}]'l (B) Water n]:[rki'ﬂg
(C) Data Hiding (D) Information Retrieval

In digital mass communication, the pudience is

(A} Large (B)  Passive (C) Participatory (D) Uncultured

Which medium is traditionally known as poor cousin of television and print
media 7

(A)  Out-door media (B) Transit media

(C) Folk media Dy N

The golden triangle of Public Serviga 2 Mprises
(A)  Accessibility, plurali di %
(B} Objectivity n@* ance.
(C) ' plurality,

(D) “

If a publication is half the size of a broadsheet. it 1s called
(A) Tabloid  (B) Digest (C) Single dummy (D) Double dummy

What is common in Facebook, Twitter and other social networking sites?

. objectivity & diversity.

(A) Internctivity (B) Informality

(C) Fast Messaging (D)  All of the above
Composite, component, RGB are forms of

(A)  Satellite signals (B} Video signals
(Cy  Audio signals (D)  Swudio signals

Who is the author of the book, ‘Define Advertising Goals for Measured
Advertising Resulis™?

(A} David Ogilvy (B} R.H. Colley
(C) Philip Kotler (D)  Green Rosenberg



(AR

62)

64)

65)

66)

67)

"'ll ¥ i - .
3 media 3T oW days idenified as
All non-digitiée

Non-digital medid (B “Textual media
lq-*l ] ‘I1l . | * )
C) Non interachve medid () Anilogue media
()  Nom

*un!iiﬂl of
Media tenicy does 1t ¢ o ol diseu:
alyZnE SEUssIng mediy

messapges,
ations frOMm meqi,

(A)  Sutegies [0f an

wpect

(R} Heightened exP¢ .1

'l{": Respect for 1he power of mediy meg Suges,
es

. Minpg -
D) Knowledge of genre COMETIONS and the recognition of their

mixing,
d. if moccrnan : .
Which mil‘.'n‘lF'h one shul-‘]d he ustc ll‘llzsﬁdgt.. IS helllg recorded on I‘mupmh?
(A) Cardiod (B) " Hyper-cardiod
(C) Omni-directional (D) Condenser

In an act of communicallon Jacobson in g model proposes how many
constitutive factors?

(A) Four (B) Six (C)  Five (D) Three
Which form of advertising is heavily used 1o introduce a new product?
(A) Persuasive advertising (B)  Reminder advertising

(C) Inferential advertising (D) Informative advertising
Cultural and creative media products are referred 1o as:

(A} Virtual power (B)  Horse power

(Cy Soft power (D) Economic power

The Human Development Index was ‘created in 1990 by a committee headed by ¢
(A) Mchbub ul Hag (B) Keith Grefin

(C)  Amritya Sen (D) Meghnad Desai

What does media priming refer?

(A)  Effect of media on subsequem stimulus

(B) Media content effect on people’s later behav:

(C) How we think and behave

(D) No effect on people



68)

69)

70)

1)

72)

73)

74)

75)

76)

jdentify the correct sequence of MeQuqips five basic functions of media.
(A} Information, Correlation, Cuminuin. Entertainment, Mobilization.
(B) Correlation, Continuity, E“'-‘-'Hnin me'nl. Mgbilizminn. Information.
() Continuity, Mobilization, Entegipment, Correlation, Information.
(D) Entertainment, Correlation, Mob;|ization. Continuity, Information,

Which one of the following is the free 4, dio ediling software?

{A) Audacity (B) GIMP  (c) Adobe premiere (D) Picasa
Inner margin of a book or documen refers 10

(A) Foot note (B) Colophon  (C) Gutter (D) Swash
Who defined the development communication for the first time in 1970s?
(A) Nora C Quebral (B) william Hachten

(Cy Rosemary Righter (D) Christina Ogan

Widely used wr‘rng technique for an interview cOpY is:

(A) Anccdo pexa mg-r rogative

(C) Descriptive aphorical

The term *phenomenology’ is associated with the process of:

(A)  Qualitative Rescarch (B) Analysis of Variance

(C) Cornelational Study (D) Probability Sampling

Identily the correc chronological order of international radio stations that

where launched :
(A) BBC - voice of America —~Radio Moscow — United Nations Radio

{(B) BBC- United Nations Radio -Voice of America — Radio Moscow
(C) BBC - Radio Moscow = Voice of America — United Nations Radio
(D) BBC- Radio Moscow —United Nations Radio — Voice of America

Which country included free expression as part of the Human Rights Act?

(A) USA (B) Sweden  (C) Denmark (D) The UK

A series of recorded audio episoedes o which audience can subscribe is known
as:

(A) Vodcast (B) Podcast

(C) Sound forge (D) Voice-over Internet protocol
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. -ables Canp
77) Which of the following ¥2*' Ot be expressed in quantitative

. SIS .
(A) Smin.ccununuc Sia (B) Marital Status

(C) Numerical Aptitude (D)  Professional Attitude
associated with

le rm-h?

78) Cost per Mille (CPM) is
(A) Traditional media
(C) Visual medin (D)  Audio media

analysis ©f a text through the identification of

M) Adventising

79) Discourse analysis is the
(A) Repetitivencss (B) Opinions
(C) Language (D)  Objects

80) What is mecant by balance in & NCWS Story?

(A) Geuing a lawyers opinion before writing the story.
(B) Covering all sides of an issue as fairly as possible.
(C) Giving same amount of space 10 every paragraph.

(D) Having several authors 10 write the story.

81) The IMAX projection system uses screen.
(A) Small (B) Horizontal (C) Vertical (Dy»  Giant sized

82) Advertising reflects the ideology of
(A) Recgulators (B] Market place (C) Consumer (D) Publicists

83) The National news agency of Indonesia is
(A) Kyodo (B) Novosti (C) Antara (D) Garuda

84) A newspaper of 600 % 380 mm size is known as
(A) Tabloid (B) Customized (C) Standard (D) Broadsheel

85) Image transfer unto the Rubber blanket is done in printing
(A) Gravure B) Offset (C) Screen (D) Rotary




R0)

87)

88)

89)

am

Mateh List < Tamd List - gy -

List = 1 (Director

a. Mam Kaul Ll

. Salim .
h. Kumar Shahni 3 i"'ikt'uv.,h““gdﬂ pe mal ro

¢. Govind Nihalani
d. Saced Mirza

3. Tarmp
4. Uskj LATTH

Codes :

i h d
Y 2 3 4
By 2 3 I 4
cy 4 3 2 I
(hy 3 41 | 2

The scholar who applicd liberaiion theology o ecducation and communication
in development context was:

(A)  Dennis Goulel (B) Paolo Freire
(C) E.F. Schumacher (D)  Alan Inkeles

Asscrtion (A) : Journalisis are bound to assist investigations of offences by
disclosing the information that they have collected.

Reason (R) : It is an obligation of every citizen including media persons under
the criminal procedure code of 1973,

Codes :

(A) Both (A) and (R) are truc.

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C)  (A)is true, bul (R) is false,

(D) (A)is false, bul (R) s true.

Which of the following is not a measure of Human Development Index?
(A) Literacy Rate (B) Gross Enrolment
(C3  Sex Ratio (D) Life Expectancy

The life history of a person writien by the person himself is called:

(A) Biography (B) Bibliography
(C) History (D) Autobiography
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g7) Interactivity. Immediacy and Hyptﬂ,_.” " chﬂm,_.wrisucﬁ ol:
| | ]

(A) M Radio B) Muhilujﬂurnalism

(C) New Media (D) Diglm[w

gg) Match the following:
List = I (Media) List - [l (QOwners

. ]nﬂagmm | “l.tkl!'ﬁh ﬂmh““i
b, Zec TV "2 Vion Musk
News |8 & ber
c. Mark Zuckerberg
d. Twiter \ S\ hhash Chandr
Codes :
PE};{m 111 d
(A) rl:l|:||:| ' tog el 3
(B) 2 3 4 |
(C) 3 g | 2
(M I 4 3 2

991 What is the term for the request not 1o publish Information supplied in advance
until specified time.

(A} slop press (B} embarga
iCy leedback (D) freelance

1001 What was one of the major recommendations of the Mac Bride Commission of
LINESCO?

1A)  Restrction on technology transfer
(B Democratization of media
(C)  Highariff for telecommunication

(D) Centralization of media ownership



Answer Key to the post of Assistant Professor College Cadre in Journalism and Mass
Communication (College Cadre) Screening Test held on 05.07.2022
Series : A
1:D 2:A 3:C 4:B 5:A 6:8 1:C 8:D 9:C
10:B 1:n 12:C 13:C 14:D 15:0 16:C 17:D 18:A
15:D 20:B 21:A 22:D 23:C 24:A 25:8 26:A 27:0
28:B 29:8B 30:D J1:B 32:C J3:B 34:D 35:C J6:A
37:8B J8:A 39:A 40:C 41:A 42:C 43:A 44:C 45:D
468 47:D 48:B 49:C 50:B 51:D 52:B 53:C 54:D
55:8 56:C 57:B GH:A 39:C 60:D 61:B 62:D 63:8
b
B

64:D 65:8 66:A 67:C 68:C BY9:B T0:B 7i: 72:C
73:D T4:A 75:D 76:D T7:A T8:A 79:C B0: 81:C
B2:C 83:D 84:D B5:B 858:D BT:C BB:A 89:C 90:B
91:A 92:0 93:B 84:C 95:A 96:B 97:D 98:B 99:A
100:B
Series : B

1:D 2:C 3:D 4:A 5:D 6:D T:A B:A 9:C
10:B 11:C 12:C 13:D 14:D 15:8 16:D I7:C I8:A
19:C 20:B 21:A 22:D 23:B 24:C 25:A 26:B 27:D
28:B 29:A 30:B 31:D 32:A 33:C 34:B 35:A 36:B
37:C 38:D 39:C 40:B 41:D 42:C 43:C 44:D 45:D
46:C 47:D 48:A 49:D 50:B 51:A 52:D 53:C 54:A
55:B 56:A 57:D o8B 59:B 60:D 61:8 62:C 63:8
64:D 65:C 66:A 67:B 68:A 69:A 70:C T1:A 72:C
73:A 74:C 75:D 76:B 77:D 78:B 79:C BO:RB B1:D
B2:B R3:C B4:D 85:B 86:C 87:8 BR:A B9:C 90:D
91:B 52:D G93:B 94:D a5:RB 96 A 97:C og8:C 99:B

100:B
Series : C

1:A 2:C a:B 4:C 5:C 6:0 7:0 B:B 9:N
10:C 1L:A 12:C 13:8 I4:A 15:0 16:8 17:C 1B:A
19:8 20:D 21:B 22:A 23:B 24:D 25:A 26:C 27:8
28:A 249:B 30:C 31:D az2:C 33:B 34:D 35:C 36:C
37:D 38:D 39:C 40:D 41:A 42:D 43:B 44:A 45:D
46:C 47:A 48:B 49:A 50:D o1:B 52:B 53:D B
55:C 56: 0B 57:D 58:C 59:A 60:B 61:A B2:A 63:C
G4:A 65:C 66:A 67:C 68:0 69:8 T0:D T1:B 72:C
73:8 74:D 75:8 76:C 7:D 78:8 79:C 80:8 81:A
82:C 83:D 84:B 85:D 86:R a7:D B8:B 89:A 90:C
g1:C 92:B 93:8 94:D 95:C 96:D a7:A 98:D 99:D
100:A

Series : D

1:B 2:0 3:C 4:A 5:C 6:8 T:A 8:D 9:B
10:C 11:A 12:B 13:D 14:B 15:A 16:8 17:D 18:A
19:C 20:8 21:A 22:8 23:.C 24:D 25:C 26:8 27:D
28:C 29:C 30:D 3 32:C 33:D 34:A 35:0 J6:B
AT:A 38:0 39:C 40: A 41:8 42:A 43:0 44:B 45:8
46:D 47:B 48:C 449:B 50:D 51:C 32:A 33:B 3
55:A 56:C 57:4A 58:C 59:4 60:C 61:D 62:B 63:D

64:B 65:C 66:B 67:D 68:B 69:C 70:D 71:B 72:C

73:B T4:A 75:C 76:0 7B 78:0 79:B 80:D Bl:B

B2:A B83:C B4:C B5:B BG: B 87:D0 Ba:C 89:D 90:A

91:D 92:D 93:A 94:A 95:C 96:8 97:C 98:C 99:D

100:D
Note :-» OBJECTIONS, IF ANY, (ALONGWITH DOCUMENTARY PROOF) IN RESPECT OF KEY RECEIVED
IN THE OFFICE OF THE COMMISSION (0N PROFROMA AT LAST PAGE) FROM THE CANDIDATE(S) IN
PERSON / BY POST/ THROUGH COURIER WITHIN SEVEN DAYS WILL ONLY BE ENTERTAINED i.e. UPTO
13,07, 2022 ON THE PROFORMA ENCLOSED. NO E-MAIL/OTHER MODE OF RECEIPT OF OBJECTIONS WILL

BE ENTERTAINED. INCOMPLETE OBJECTION APPLICATION FORM WILL NOT BE ENTERTAINED AND

CANDIDATE WILL BE RESPINSIBELE FOR SUCH MISTAKES(IF ANY).




